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QUESTION 1

If multiple backup streams are written to a backup device at the same time, which feature is being used? 

A. Server parallelism 

B. Twinning 

C. Multiplexing 

D. Client parallelism 

Correct Answer: B 

 

QUESTION 2

Which Avamar feature provides the benefit of less network traffic than traditional backup applications? 

A. Target-based deduplication 

B. Source-based deduplication 

C. Inline deduplication 

D. Post-process deduplication 

Correct Answer: B 

 

QUESTION 3

What allows the backup administrator to securely erase old data on their EMC Data Domain system by overwriting them
with a DoD/NIST algorithm? 

A. Sanitization 

B. Cleaning 

C. Virtual Vault 

D. File System Destroy 

Correct Answer: A 

 

QUESTION 4

A customer uses EMC Avamar to backup 1000 servers. The servers have a combined raw capacity of 90 TBs and 75
TBs useable. The Avamar grid is licensed for 25 TB capacity. How would the Data Protection Advisor backup option be
licensed? 
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A. 25 - 1 TB licenses 

B. 50 client licenses 

C. 75 - 1 TB licenses 

D. 90 - 1 TB licenses 

Correct Answer: A 

 

QUESTION 5

A company has numerous UNIX servers that are being backed up to the Data Domain system as a disk target. Which
transport protocol should be configured on the Data Domain system? 

A. Fibre Channel 

B. NFS 

C. NDMP 

D. CIFS 

Correct Answer: B 
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